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0 0.00000 0.00000 0.00000 0.00000
5 0.34185 0.34179 0.34180 0.34181
10 0.68364 0.68357 0.68355 0.68359
15 1.02546 1.02539 1.02537 1.02541
20 1.36724 1.36716 1.36716 1.36719
25 1.70905 1.70898 1.70900 1.70901
30 2.05092 2.05083 2.05083 2.05086
25 1.70930 1.70922 1.70922 1.70925
20 1.36773 1.36766 1.36767 1.36769
15 1.02555 1.02548 1.02555 1.02553
10 0.68373 0.68365 0.68367 0.68368
5 0.34188 0.34181 0.34183 0.34184
0 0.00005 0.00002 -0.00003 0.00001
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15 1.02538 | 1.02540 | 1.02542 | 1.02540
20 136718 | 1.36721 | 1.36721 | 1.36720
25 1.70905 | 1.70906 | 1.70906 | 1.70906
30 2.05097 | 2.05098 | 2.05095 | 2.05097
25 170922 | 170926 | 1.70921 | 1.70923
20 136759 | 1.36761 | 1.36755 | 1.36758
15 1.02547 | 1.02553 | 1.02549 | 1.02550
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25 170926 | 170918 | 1.70922 | 1.70922
30 205112 | 2.05106 | 2.05108 | 2.05109
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